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Set A Section A

1. Express 0.125 in the form 

Watch Video Solution

.
p

q

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_62EU4KOFaDMo


2. Find the product of zeroes of the quadratic

polynomial 

Watch Video Solution

3x2 − x − 4.

3. The value of x and y in the equations

 are :

A. 

B. 

5x + 2y = 16 and 7x − 4y = 2

x = 2, y = 3

x = 3, y = 2

https://dl.doubtnut.com/l/_62EU4KOFaDMo
https://dl.doubtnut.com/l/_sORkhx64MYdf
https://dl.doubtnut.com/l/_chYbBsAvqor0


C. 

D. None of these

Answer: A

Watch Video Solution

x = 1, y = 2

4. The 11th term of the A.P.

 is :

A. 38

B. 

13, 15 , 18, 20 , .......
1

2

1

2

40
1

2

https://dl.doubtnut.com/l/_chYbBsAvqor0
https://dl.doubtnut.com/l/_kBxpRA7tuUko


C. 43

D. 

Answer: A

Watch Video Solution

45
1

2

5. Find the common difference of the

Watch Video Solution

A. P . − 10, − 6, − 2, 2.......

https://dl.doubtnut.com/l/_kBxpRA7tuUko
https://dl.doubtnut.com/l/_5L1Wn8DtQUYi


6. Fill in the blank using the correct word given

in bracket. 

All ...............triangles are similar.

(Isosceles/Equilateral)

View Text Solution

7. The ratio of the areas of two similar

triangles is , then ratio of their

corresponding sides is :

A. 

5: 3

5: 3

https://dl.doubtnut.com/l/_2K0RVq7beRl6
https://dl.doubtnut.com/l/_30gQMPfdecH9


B. 

C. 

D. 

Answer: C

Watch Video Solution

3: 5

√5: √3

√3: √5

8. From a point Q, the length of the tangent to

a circle is 12 cm and the distance of Q from the

centre is 13 cm. The radius of the circle is 13

cm. The radius of the circle is :

https://dl.doubtnut.com/l/_30gQMPfdecH9
https://dl.doubtnut.com/l/_CWFMLGfNNcI7


A. 12 cm

B. 13 cm

C. 5 cm

D. None of these

Answer: B

View Text Solution

9. Fill in the blank. 

The line intersecting the circle in two points is

called .............. .

https://dl.doubtnut.com/l/_CWFMLGfNNcI7
https://dl.doubtnut.com/l/_KuqXys3GzZ5f


View Text Solution

10. Find the distance of point  from

the origin.

Watch Video Solution

( − 5, 12)

11. Find the coordinates of the midpoint of the

line segment joining the points

.

Watch Video Solution

( − 3, 4) and (1, − 2)

https://dl.doubtnut.com/l/_KuqXys3GzZ5f
https://dl.doubtnut.com/l/_pImWliSICL9Q
https://dl.doubtnut.com/l/_ZIg7PK8aeSgO


12. Find the values of 

Watch Video Solution

sin 48∘ − cos 42∘

13. Consider a  right angled at C, in

which AB = 29 units, BC = 21 units and

. The value f  is

A. 

B. 

C. 

ΔACB

∠ABC = θ sin θ

20

29

21

29

20

21

https://dl.doubtnut.com/l/_ZIg7PK8aeSgO
https://dl.doubtnut.com/l/_EnEeivwHfaZM
https://dl.doubtnut.com/l/_eZZZ5dMuKdAa


D. 

Answer: A

View Text Solution

29

20

14. In a circle of radius 4 cm, an arc subtends

an angle of  at the centre. Find the length

of the arc.

Watch Video Solution

60∘

https://dl.doubtnut.com/l/_eZZZ5dMuKdAa
https://dl.doubtnut.com/l/_sTUdDIsx8CVn


15. The length, breadth and height of a cuboid

are 14 m, 10 m and 5 m. Its volume is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

680m3

700m3

700m2

640m3

https://dl.doubtnut.com/l/_WhUGGRD0wjoj
https://dl.doubtnut.com/l/_EaJvFMIs3nJV


Set A Section B

16. Find the probability of getting head when

coin is tossed once.

View Text Solution

1. Find a quadratic polynomial, the sum and

product of whose zeros is 4 and 1 respectively.

Watch Video Solution

https://dl.doubtnut.com/l/_EaJvFMIs3nJV
https://dl.doubtnut.com/l/_OuHmVs8ELMTq


2. Two poles of heights 7 m and 12 m stand on

a plane ground. If the distance between their

tops.

View Text Solution

3. If  and , 

 and  then find 

 and .

Watch Video Solution

sin(A − B) =
1

2
cos(A + B) =

1

2

0∘ < (A + B) < 90∘ A > B

A B

https://dl.doubtnut.com/l/_eNSEFkrp21G0
https://dl.doubtnut.com/l/_sbORyggeEh5A


Set A Section C

1. Solve the following pair of linear equations

by cross multiplication method : 

 


View Text Solution

8x + 5y = 9

3x + 2y = 4.

2. The altitude of a right triangle is 7 cm less

than its base. If the hypotenuse is 13 cm. Find

the other two sides.

https://dl.doubtnut.com/l/_MmeYFVnU4tRp
https://dl.doubtnut.com/l/_rHfD2BJ7x5S9


View Text Solution

3. Which term of the A.P.3,8,13,18,.....is 78 ?

Watch Video Solution

4. Check whether (5,-2), (6,4) and (7,-2) are the

vertices of an isosceles triangle.

Watch Video Solution

https://dl.doubtnut.com/l/_rHfD2BJ7x5S9
https://dl.doubtnut.com/l/_rslle2KjXN3D
https://dl.doubtnut.com/l/_vg1VPh4euevv


Set A Section D

5. 12 dfective pens are accidently mixed with

132 good ones. It is not possible to just look at

a pen and tell whether or not it is defective.

One pen is taken at radom from the lot.

Determine the probability that the pen taken

out is a good pen.

View Text Solution

https://dl.doubtnut.com/l/_PrqudPea9yVV


1. Sum of the area of two square is . If

the difference of their perimeters is 24m, find

the sides of the two squares.

View Text Solution

468m2

2. An observer 1.5 m tall is 28.5 m away from a

chimney. The angle of elevation of the top of

the chimney from her eyes is . What is the

height of the chemney ?

View Text Solution

45∘

https://dl.doubtnut.com/l/_TzIHqaqkgL3e
https://dl.doubtnut.com/l/_5UcIybMzzISh


3. Prove that : 

View Text Solution

√ = sec A + tan A.
1 + sin A

1 − sin A

4. 2 cubes each of volume  joined end to

end. Find the surface area of the resulting

cuboid.

View Text Solution

64cm3

https://dl.doubtnut.com/l/_5UcIybMzzISh
https://dl.doubtnut.com/l/_EtdZmKEl708T
https://dl.doubtnut.com/l/_nyKedAxFmPs9


Set B Section A

1. Express 0.175 in the form .

Watch Video Solution

p

q

2. Find the sum of the zeroes of quadratic

polynomial .

Watch Video Solution

4x2 − 4x + 1

https://dl.doubtnut.com/l/_x0p1F0HkR4OJ
https://dl.doubtnut.com/l/_J8JaZuvi2dTB


3. The value of x and y in the equation

 and  is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3x − y = 13 x − y = 4

x = 1, y = 2

x = , y =
−1

2

−9

2

x = , y =
9

2

1

2

x = , y =
1

2

−9

2

https://dl.doubtnut.com/l/_6wtCV5j5Wmxb
https://dl.doubtnut.com/l/_ZQtaGOfFBdVs


4. If  term of an A.P. Is 38 and 16th term is

73, its first term is :

A. 7

B. 32

C. 

D. .

Answer: C

Watch Video Solution

11th

−32

45
1

2

https://dl.doubtnut.com/l/_ZQtaGOfFBdVs


5. Find the common difference of the A.P. 10, 7,

4, ........... .

Watch Video Solution

6. Find the blank using the correct word given

in bracket : 

All squares are ................(similar, Congruent)

View Text Solution

https://dl.doubtnut.com/l/_e8FHbEO3kwm2
https://dl.doubtnut.com/l/_Jd8AF3FoeRM1


7. The ratio of the area of two similar triangle

is , the ratio of their corresponding sides

are :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

4: 5

4: 5

16: 25

2: √5

5: 4

https://dl.doubtnut.com/l/_pLBRkViAJQUg


8. If the length of a tangent drawn from a

point P to the circle is 24 cm and the distance

of the point from the centre is 25 cm, then

length of the radius is :

A. 12 cm

B. 12.5 cm

C. 1 cm

D. 7 cm.

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_f12whC859lS4


9. Fill in the blank : 

From a point on a circle ............. Tangent (s) can

be drawn.

Watch Video Solution

10. Find distance of point  from the

origin.

Watch Video Solution

( − 4, 3)

https://dl.doubtnut.com/l/_f12whC859lS4
https://dl.doubtnut.com/l/_TniGRY2TfaMI
https://dl.doubtnut.com/l/_UIkAlVrhQ25j
https://dl.doubtnut.com/l/_N4k3uj0ZA3sl


11. Find the mid point of the line segment

joining the points .

Watch Video Solution

( − 2, 7) and (4, − 3)

12. Evaluate : .

Watch Video Solution

cosec 31∘ − sec 59∘

13. A  in which angle C is right angle,

AB = 29 units, BC = 21 units and .

ΔABC

∠ABC = θ

https://dl.doubtnut.com/l/_N4k3uj0ZA3sl
https://dl.doubtnut.com/l/_H0MlIiEfSmIO
https://dl.doubtnut.com/l/_DKT9fbfvyuOm


The value of  is :

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

cos θ

20

29

21

29

20

21

21

20

https://dl.doubtnut.com/l/_DKT9fbfvyuOm


14. Find the length of the arc of a sector of a

circle with radius 6 cm whose angle is .

Watch Video Solution

60∘

15. The length, breadth and height of a cuboid

is 12 m, 8 m and 5 m respectively, Its volume is :

A. 

B. 

C. 

960m3

480m2

480m3

https://dl.doubtnut.com/l/_HGfUFpNM7hUM
https://dl.doubtnut.com/l/_yWasfiHbuThp


Set B Section B

D. None of these.

Answer: C

Watch Video Solution

16. A die is thrown once. Find the probability of

getting an odd number.

View Text Solution

https://dl.doubtnut.com/l/_yWasfiHbuThp
https://dl.doubtnut.com/l/_O2XE5saENf9c
https://dl.doubtnut.com/l/_b63HEWWDkP8t


1. Find a quadratic polynomial, sum and

product of whose zeroes 

respectively.

View Text Solution

−3 and 2

2. Two poles of heights 6 m and 12 m stand on

a plane ground. If the distance between the

feet of the poles is 8 m, find the distance

between their tops.

View Text Solution

https://dl.doubtnut.com/l/_b63HEWWDkP8t
https://dl.doubtnut.com/l/_fTS5kdL0bObA


Set B Section C

3. Evalutate : .

Watch Video Solution

sin 60∘ cos 30∘ + sin 30∘ cos 30∘

1. Solve the following pair of linear equations

by the substitution method: 

 


Watch Video Solution

s − t = 3

+ = 6
s

3
t

2

https://dl.doubtnut.com/l/_fTS5kdL0bObA
https://dl.doubtnut.com/l/_1vmZrSSQ3CaS
https://dl.doubtnut.com/l/_nBqviI7ZNHhx


2. Find two consecutive odd positive integers

sum of whose square is 290.

View Text Solution

3. How many multiple of 4 lie between 10 and

250 ?

View Text Solution

https://dl.doubtnut.com/l/_nBqviI7ZNHhx
https://dl.doubtnut.com/l/_MzT9iBi0GK4x
https://dl.doubtnut.com/l/_jFYyEszXQcjO


4. Find the point on the -axis which is

equidistant from  and .

Watch Video Solution

x

(2, − 5) ( − 2, 9)

5. A bag contains 3 red balls and 5 black balls.

A ball is drawn at random from the bag. What

is the probability that the ball drawn is (i) red?

(ii) not red?

View Text Solution

https://dl.doubtnut.com/l/_RmwtUPyczYuL
https://dl.doubtnut.com/l/_9Yk2VrNPyyAJ


Set B Section D

1. Is it possible to design a rectangular mango

grove whose length is twice its breadth, and

the area is ? If so, find its length and

breadth.

View Text Solution

800m2

2. From a point P on the ground the angle of

elevation of the top of a 10 m tall building is

. A flag is hoisted at the top of building30∘

https://dl.doubtnut.com/l/_kigPiQKWSE1s
https://dl.doubtnut.com/l/_GyIdOSGd8A93


and the angle of elevation of the top of the

flagstaff from P is . Find the length of the

flagstaff and the distance of the building from

the point? (You may take )

View Text Solution

45∘

√3 = 1.732

3. Prove that : 

.

View Text Solution

= tan θ
sin θ − 2 sin3 θ

2 cos3 θ − cos θ

https://dl.doubtnut.com/l/_GyIdOSGd8A93
https://dl.doubtnut.com/l/_Zenc2CLml1gC


Set C Section A

4. A cubical block of side 7 cm is surmounted

by a hemisphere. What is the greatest

diameter the hemisphere can have? Find the

surface area of the solid.

View Text Solution

1. Express 2.556 in the form .

Watch Video Solution

p

q

https://dl.doubtnut.com/l/_iNO3TiixLG1x
https://dl.doubtnut.com/l/_1WxCq0W6oGuw


2. Find the product of the zeros of the

quadratic polynomial .

Watch Video Solution

x2 − 2x − 8

3. The value of x and y in the equation

 and  are

:

A. 

B. 

0.2x + 0.3y = 1.3 0.4x + 0.5y = 2.3

x = 2, y = 3

x = 3, y = 2

https://dl.doubtnut.com/l/_1WxCq0W6oGuw
https://dl.doubtnut.com/l/_sfiP1DOrQB7f
https://dl.doubtnut.com/l/_kgiHtTvOOGBa


C. 

D. 

Answer: A

View Text Solution

x = − 2, y = − 3

x = − 3, y = − 2

4. 3rd term of an A.P. Is 12 and 10th term is 26,

then its 20th term is :

A. 46

B. 52

https://dl.doubtnut.com/l/_kgiHtTvOOGBa
https://dl.doubtnut.com/l/_etcmmfV1YSVI


C. 50

D. 44

Answer: A

Watch Video Solution

5. Find the common difference of the A.P. 2, 7,

12, ............. .

Watch Video Solution

https://dl.doubtnut.com/l/_etcmmfV1YSVI
https://dl.doubtnut.com/l/_MZGeR8LuC8hL


6. Fill in the blank using the correct word given

in bracket : 

All circle are ................ .

View Text Solution

7. If the ratio of the sides of two similar

triangle is , then ratio of the areas is :

A. 

B. 

3: 5

√3: √5

9: 25

https://dl.doubtnut.com/l/_bXYCRiLbQVVm
https://dl.doubtnut.com/l/_caaGjpXgKzmH


C. 

D. None of these.

Answer: B

Watch Video Solution

5: 3

8. If the distance of point P from the centre of

the circle is 13 cm and the radius of the circle

is 5 cm, then length of the tangent drawn

from P to the circle is :

https://dl.doubtnut.com/l/_caaGjpXgKzmH
https://dl.doubtnut.com/l/_Zy9A80x9Jeln


A. 8 cm

B. 6.5 cm

C. 9 cm

D. 12 cm.

Answer: D

View Text Solution

9. A circle can have .............parallel tangents at

the most.

https://dl.doubtnut.com/l/_Zy9A80x9Jeln
https://dl.doubtnut.com/l/_iWCJq1s3nQPn


Watch Video Solution

10. Find the distance between the point

 and 

Watch Video Solution

( − 4, 6) ( − 6, 10)

11. Find the midpoint of the line joining the

points .

Watch Video Solution

(4, − 1) and ( − 2, − 3)

https://dl.doubtnut.com/l/_iWCJq1s3nQPn
https://dl.doubtnut.com/l/_48H09keIxP9X
https://dl.doubtnut.com/l/_He98eqsxgolz


12. Evaluate : 

Watch Video Solution

tan 26∘

cot 64∘

13. Angle C of a  is right angle in which 

 units, BC = 21 units and 

the value of  is :

A. 

B. 

ΔACB

AB = 29 ∠ABC = θ

tan θ

21

29

20

29

https://dl.doubtnut.com/l/_kLmyxeV3ACwb
https://dl.doubtnut.com/l/_namq83riLafb


C. 

D. .

Answer: C

View Text Solution

20

21

29

20

14. In a circle of radius 21 cm and arc subtends

an angle of  at the centre. Find the area of

the sector.

View Text Solution

60∘

https://dl.doubtnut.com/l/_namq83riLafb
https://dl.doubtnut.com/l/_FYds6mi0jB5c


15. The length, breadth and height of the

cuboid are 10 m, 7 m and 5 m respectively the

volume of the cuboid is :

A. 

B. 

C. 

D. None of these.

Answer: C

Watch Video Solution

22m3

210m3

350m3

https://dl.doubtnut.com/l/_r7MT6pAQx0ly


Set C Section B

16. A dia is thrown once, what is the

probability of getting a prime number?

View Text Solution

1. Find the zeroes of the quadratic polynomial

 and verify the relationship between the

zeroes and coefficients.

View Text Solution

x2 − 3

https://dl.doubtnut.com/l/_qzTmU8fMIGNc
https://dl.doubtnut.com/l/_GdRSd3hZILIK


Set C Section C

2. Evaluate : 

Watch Video Solution

2 tan2 45∘ + cos2 30∘ − sin2 60∘

1. Solve the following pair of linear equations

by the substitution method: 

 
− = − 2
3x

2

5y

3

+ =
x

3

y

2

13

6

https://dl.doubtnut.com/l/_GdRSd3hZILIK
https://dl.doubtnut.com/l/_Ggy2VQmKwdPk
https://dl.doubtnut.com/l/_7KKcsD0KhjG3


Watch Video Solution

2. Find the roots of the equation

 by the method of

completing squares.

View Text Solution

5x2 − 6x − 2 = 0

3. Which term of the A.P. 3, 15, 27, 39, ...........will

be 132 more than its 54th term?

View Text Solution

https://dl.doubtnut.com/l/_7KKcsD0KhjG3
https://dl.doubtnut.com/l/_PfpYyFO1THQO
https://dl.doubtnut.com/l/_Tr7LKUogRpyU


4. Find the value of y for which the distance

between the points 

is 10 units.

View Text Solution

P (2, − 3) and Q(10, y)

5. Harpreet tosses two different coins

simultaneously (say one is of Rs 1 and the

other of Rs 2). What is the probability that she

gets atleast one head ?

View Text Solution

https://dl.doubtnut.com/l/_z3jZ9UrJphGO
https://dl.doubtnut.com/l/_2nU1jXG3xZJ9


Set C Section D

1. Find two consecutive odd positive integers,

sum of whose squares is 290.

View Text Solution

2. The angles of depression of the top and the

bottom of an 8m tall building from the top of

a multistoreyed building are  and 

respectively. Find the height of the

30∘ 45∘

https://dl.doubtnut.com/l/_2nU1jXG3xZJ9
https://dl.doubtnut.com/l/_qqqTp3AM4SQA
https://dl.doubtnut.com/l/_ftWERljAzLYu


multistoreyed building and the distance

between the two buildings.

View Text Solution

3. Prove that 

Watch Video Solution

= .
1 + sec A

sec A

sin2 A

1 − cos A

4. A cone of height 24 cm and radius of base 6

cm is made of modelling clay. A child reshapes

https://dl.doubtnut.com/l/_ftWERljAzLYu
https://dl.doubtnut.com/l/_IHxrKTkp7LNI
https://dl.doubtnut.com/l/_F06qklECgBWv


Set D Section A

it in the form of a shpere. Find the radius of

the sphere.

View Text Solution

1. Express 0.225 in the term of 

Watch Video Solution

p

q

https://dl.doubtnut.com/l/_F06qklECgBWv
https://dl.doubtnut.com/l/_vMj6bTzSvp2F


2. Find the sum of the zeroes of quadratic

polynomial 

Watch Video Solution

x2 + 3x − 6.

3. The values of x and y in the equations

 are 

 are :

A. 

B. 

√2x + √3y = 0 and √3x − √8y = 0

√3x − √8y = 0

x = 1, y = 2

x = 0, y = 2

https://dl.doubtnut.com/l/_CEHsDPLo7egs
https://dl.doubtnut.com/l/_JboMMyElXaph


C. 

D. .

Answer: C

View Text Solution

x = 0, y = 0

x = 1, y = 0

4. Sum of first 20 positive integers will be :

A. 180

B. 190

C. 200

https://dl.doubtnut.com/l/_JboMMyElXaph
https://dl.doubtnut.com/l/_mkzlTt0RNGsg


D. 210

Answer: D

Watch Video Solution

5. Find the common difference of the A.P. 0.6,

1.7, 2.8, 3.9,.......... .

Watch Video Solution

https://dl.doubtnut.com/l/_mkzlTt0RNGsg
https://dl.doubtnut.com/l/_fLxYmxo76UOY


6. Fill in the blanks using the correct word

given in bracket : 

All square are ........... .

View Text Solution

7. Sides of two similar triangle are in the ratio

 Areas of these triangles are in the ratio :

A. 

B. 

2: 3

√2: √3

2: 3

https://dl.doubtnut.com/l/_fIEde41YA6Kh
https://dl.doubtnut.com/l/_5JnsQsUTvcCh


C. 

D. None of these.

Answer: C

View Text Solution

4: 9

8. Maximum number of tangents drawn from a

point on the circle is :

A. 1

B. 2

https://dl.doubtnut.com/l/_5JnsQsUTvcCh
https://dl.doubtnut.com/l/_I50hACHPtpzQ


C. 3

D. None of these.

Answer: A

Watch Video Solution

9. The common point of a tangent to a circle

and the circle is called ................... .

View Text Solution

https://dl.doubtnut.com/l/_I50hACHPtpzQ
https://dl.doubtnut.com/l/_y9P1frSTOvdA


10. Find the distance of point  from

the origin.

Watch Video Solution

(5, − 7)

11. Find the midpoint of the line segment

joining the points .

Watch Video Solution

(2, − 5) and ( − 2, 9)

12. Evaluate : .tan 48∘ tan 23∘ tan 42∘ tan 67∘

https://dl.doubtnut.com/l/_ga0kVK7CZJs0
https://dl.doubtnut.com/l/_r55HBLVFDuFs
https://dl.doubtnut.com/l/_PWGetzKQDs7f


View Text Solution

13. Angle C of  in right angle, AB = 29

units, BC = 2 units and . The value

of  is :

A. 

B. 

C. 

D. 

Answer: D

ΔACB

∠ABC = θ

cos θ

21

29

20

29

20

21

21

20

https://dl.doubtnut.com/l/_PWGetzKQDs7f
https://dl.doubtnut.com/l/_HTILsvum18PA


View Text Solution

14. A chord of a circle of radius 10 cm subtends

a right angle at the centre. Find the area of

the corresponding sector.

View Text Solution

15. The length, breadth and height of a cuboid

are 13m, 10m and 5m respectively. Volume of

cuboid is :

https://dl.doubtnut.com/l/_HTILsvum18PA
https://dl.doubtnut.com/l/_bAM0CkPsRgar
https://dl.doubtnut.com/l/_POP3ELTlIBFW


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

135m3

650m2

650m3

450m3.

16. A die is thrown once. Find the probability of

getting a number more than 4.

https://dl.doubtnut.com/l/_POP3ELTlIBFW
https://dl.doubtnut.com/l/_nqpXERK5rCrg


Set D Section B

View Text Solution

1. Find the zeroes of the quadratic polynomial

 and verify the relationship

between its zeroes and coefficients.

View Text Solution

x2 + 7x + 10

2. Evaluate : 

Watch Video Solution

cos 45∘

sec 30∘ + cosec 30∘

https://dl.doubtnut.com/l/_nqpXERK5rCrg
https://dl.doubtnut.com/l/_WyrRaPKLJ3S2
https://dl.doubtnut.com/l/_dZAraaKabVdb


Set D Section C

1. Solve the following pair of linear equations : 

 


Watch Video Solution

x + y = 5

2x − 3y = 4.

2. Find the roots of  by the

method of completing the square.

3x2 − 5x + 2 = 0

https://dl.doubtnut.com/l/_dZAraaKabVdb
https://dl.doubtnut.com/l/_71LgnDVb6tjT
https://dl.doubtnut.com/l/_1lD1gNXomy4F


View Text Solution

3. If the 3rd and 9th terms of an A.P. Are 4 and

 respectively, which term of this A.P. Is zero?

View Text Solution

−8

4. Find the relation between x and y such that

the points  is equidistant from the point

(3, 6) and .

View Text Solution

(x, y)

( − 3, 4)

https://dl.doubtnut.com/l/_1lD1gNXomy4F
https://dl.doubtnut.com/l/_voIWw037208S
https://dl.doubtnut.com/l/_7sbXLaVbpecp


Set D Section D

5. A box contains 3 blue, 2 white and 4 red

marbles. If a marble is drawn at random from

the box, what is 

(i) white ? (ii) blue ? (iii) red?

View Text Solution

1. The sum of the reciprocals of Rehman's age

(in years) 3 years ago and 5 years from now is

https://dl.doubtnut.com/l/_7sbXLaVbpecp
https://dl.doubtnut.com/l/_G37dnwYtBdaj
https://dl.doubtnut.com/l/_Z7M94eVqYBTU


. Find his present age.

View Text Solution

1

3

2. A kite is flying at a height of 60 m above the

ground. The string attached to kite is

temporarily tied to a point on the ground. The

inclination on the string with the ground is

. Find the length of the string assuming

that there is no slack in the string.

View Text Solution

60∘

https://dl.doubtnut.com/l/_Z7M94eVqYBTU
https://dl.doubtnut.com/l/_DKCR4glefi62
https://dl.doubtnut.com/l/_009RQOlsOo9o


3. Prove that 

.

View Text Solution

sec A(1 − sin A)(sec A + tan A) = 1

4. A metallic sphere of radius 4.2 cm is melted

and recast into the sphape of cylinder of

radius 6 cm. Find the height of the cylinder.

View Text Solution

https://dl.doubtnut.com/l/_009RQOlsOo9o
https://dl.doubtnut.com/l/_FnDQK0oTB0tI

